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Question 2: Writing sets for a real-world situation using descriptive and roster forms

A certain college offers free tutoring for nine subjects. Here is the tutoring schedule for each subject.

« Math is offered on both Thursday and Friday. Clan
« German is offered on Thursday but not Friday.

* Art, Bio, Econ, and Psych are offered on Friday but not Thursday. [SIPY
« Chem, English, and Stats are offered on neither Thursday nor Friday. 7o)

Write each set in the indicated form. 5}\‘1

(a) Roster form: {Math, German, Art, Bio, Econ, Psych}

Descriptive form: | The set of subjects offered for tutoring on Thursday or Friday (or both) ~ ]

(b) Descriptive form: The set of subjects not offered for tutoring on Thursday

Roster form: {Art, Bio, Econ, Psych, Chem, English, Stats} sl ool Risia

(c) Roster form: {Math, Art, Bio, Econ, Psych}

Descriptive form: [ The set of subjects offered for tutoring on Friday ~]

Question 3: Identifying infinite sets and determining cardinalities of finite sets

For each given set, determine if the set is finite or infinite. If finite, give the cardinality.

Set Is the set finite or infinite? |
O finite

(a) The set of even numbers in {3,5,7} cardinality: 3

O infinite
O finite
cardinality: D

(b) {10,20,30,...}

© infinite

O finite
cardinality: 7

(c) {c.d .f.g.h.k,n}

O infinite
CuA\'wH*i - Coon* Lm../ AN ST each st

Question 4: Determining the number of subsets for a real-world situation

Jane got a train ticket valid for the eight cities listed below. She can choose to visit some or none of these cities. She doesn't have time to visit all of them.
Amsterdam, Brussels, Cologne, Duisburg, Lille, Paris, Rotterdam, Utrecht

In how many different ways can Jane choose the cities to visit? (The order of the cities chosen doesn't matter.)

L AR

Question 5: Finding sets and complements of sets

For the universal set, U={p » G Vi Xy, iy Z }, complete the parts below.
Write your answers in roster form or as <.
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(a) Suppose we know that A'= {p, X,y } Then what would 4 have to be?

A= {qsrsz}

(b) Suppose B=1{r, «x, Wiz }. Then what is B"?

B'= {p,q}

Question 6: Union and intersection of finite sets

Sets L and D are defined as follows.

L={a, g, ht
D={c, d, f}

Answer each part below. Write your answer in roster form or as &.

a) Find the union of L and D.
(a) m)

LuD={aghecdf}

(b) Find the intersection of L and D.

Question 7: Unions, intersections, and complements involving 2 sets

Sets C and D are subsets of the universal set U.
These sets are defined as follows.

v={1,3,4,6 7.8} CND = E4,7F

c=y3 47} @ E Gt
@ 1, 4,7}
Find the following sets.
Write your answer in roster form or as &.

o
@ npy=[€ 11,3683 O ¢ ==
o

Question 8: Unions and intersections involving the empty set or universal set

Set 4 and the universal set U are defined as follows.

U={p,q,r,x,y, 2} AU ¢ = ,b\ AU U: U
ramermmens, * EA1123 ANd-@ A0U=A

Write your answer in roster form or as @.

@A'No = D ¢

f(m)} @ oo
e B0

| didn't do this on the video, but in ALEKS you can’t write U for Universal. You need
to write it in roster form so (b) would be {p a, r, x, y, z}

Otiestion 9' Internreting A Venn diasram with 3 sets far a real-world sitniation
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—All county train

(a) Select all the train lines that have a stop at Erie.
Blue Li &
stl;etiolr:‘se )Green Line (-Blue Line urple Line

Green Line’
stations

(b) How many stations are along the Green Line or the Blue Line (or
both)?

0

(c) Which stations are only along one of the three lines (the Green Line,
the Blue Line, or the Purple Line)? Choose all that apply.
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QMetz 9/0/kene @’P{nce eﬁuilmes O Ulm
@/Wé’ren Gfork @’éma

Purple Line
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Question 10: Interpreting Venn diagram cardinalities with 2 sets for a real-world
situation

A pet store surveyed 337 people to see how many own a bird and how many own a dog.

The Venn diagram below shows the results. (Each number gives the number of people who fall into that Venn diagram category.)

All people in the survey:

(a) How many of the people do not own a dog?
[] people \[a[{ 737 Y1
(b) How many of the people own both a bird and a dog?

|:| people ég

(c) How many of the people own a bird or a dog (or both)?

[ people llq 63+ = QY

| can't add. It's 119+68+77=264

Question 11: Constructing a Venn diagram with 2 sets

Construct a Venn diagram illustrating the sets below.

U={a: bi’ C!dr eff! .i_-,'}
X=1b,d, e, gl
Z={a,b,d,f. g

%, % o
&,
‘7@/ 7
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;

Question 12: Constructing a Venn diagram with 2 sets to solve a word problem



A pet store surveyed 143 people to gather information about the types of pets they own. The table below gives the res

Number of people

Own a dog 62
Own a bird 80
Own both a dog and a bird 26

Construct a Venn diagram illustrating these results. Then answer the questions.

d All people in the survey |

[27] {43 - 3¢- 26 -5Y

ORI

How many people own a bird but not a dog?

54 people

How many people own a dog or a bird (or both)?

2(420¢8Y

116 people

EE

Question 13: Interpreting Venn diagram cardinalities with 3 sets for a real-world

situation

A pet store surveyed 690 people to see how many own a bird, how many own a dog, an

The Venn diagram below shows the results. (Each number gives the number of people w

—All people in the survey———

fish

(a) How many of the people own a bird?

[Jpeople ¢, 4

23+ RE4 (26 = D7

62+ 8= (e

D people

(b) How many of the people own neither a bird nor a fish?

1S4

D people

(c) How many of the people own both a dog and a fish, but don‘t own a bird?

Question 14: Constructing a Venn diagram with 3 sets to solve a word problem

A pet store conducted a survey to gather information about the types of pets people own. Here are the results.

680 people were surveyed in all R0~ e L
343 of the people own a bird 3H4d = 37 12\ 7 127 = %
353 of the people own adog 53 — 7C ~(21-37? = UQ
158 of the people own both a dog and a bird

248 of the people own both a bird and a fish

197 of the people own both a dog and a fish

121 of the people own all three types of pets (dog, bird, fish)

potlon v
79 of the people don't own any of these three types of pets (dog, bird, fish) wo/“— P

Construct a Venn diagram illustrating these results. Then answer the question.

All people in the survey
IE 15%

but don't own a fish?

How many of the people own both a bird and a dog,



‘ 37 people

=

¥4

9 - Show your work.
ﬁ -

between union and intersection

#5 - Show your work for PART A.

[What is the original set?

hrde ey

What is the complement set?

h-Ep -

In your own words, write how you tell the difierence
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Intersection: n
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#13 - What does the most interior number represent?

The number in the middle of all three circles. Write your

answer in context of the problem.

(3 MLy

’ fi“

\‘\//

c %

#7 - Using your problem, label the venn diagram

71 rl"p" 2% Al QW

Q.W-f Clt thase

3 pafs

[#14 -

What does the number on the OUTSIDE of the
lcircles represent? Write your answer in context of the
problem.
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